King Fahd University of Petroleum and Minerals
Department of Mathematical Sciences

Math 102.14, Quiz-III, Spring 2006

1. 
$$\int \sec^3 x \tan^3 x \, dx = \int \sec^2 \phi \cot^2 \phi (\sec \phi \tan \phi) \, d\phi$$

$$= \int \csc^3 \phi (\sec^3 \phi - 1)(\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \sec^3 \phi (\sec \phi - 3\cos \phi) \cdot (\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \sec^3 \phi (\sec \phi - 3\cos \phi) \cdot (\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \sec^3 \phi (\sec \phi - 3\cos \phi) \cdot (\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \sec^3 \phi (\sec \phi - 3\cos \phi) \cdot (\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \sec^3 \phi (\sec^3 \phi - 1)(\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \sec^3 \phi (\sec^3 \phi - 1)(\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \sec^3 \phi (\sec^3 \phi - 1)(\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \csc^3 \phi (\csc^3 \phi - 1)(\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \csc^3 \phi (\csc^3 \phi - 1)(\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\csc^3 \phi - 1)(\sec \phi \cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\csc^3 \phi - 1)(\csc \phi \cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\csc^3 \phi - 1)(\csc \phi \cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\csc^3 \phi - 1)(\csc \phi \cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \int \cot^3 \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \int \int \int d\phi (\cot \phi) \, d\phi$$

$$= \int \int \int \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int \int \partial \phi (\cot \phi) \, d\phi$$

$$= \int$$

2. 
$$\int x^3 e^x dx$$
 let  $u = x^2$   $dv = xe^{x^2} da$   $\Rightarrow$ 

$$dv = 2x dx \quad V = \frac{1}{2} e^{x^2}$$

$$\int x^3 e^x dx = 1 x^2 e^x - \int \frac{1}{2} (2x) e^x dx$$

$$= \frac{1}{2} x^2 e^x - \frac{1}{2} \int 2x e^x dx = \frac{1}{2} x^2 e^x - \frac{1}{2} e^x + \frac{1}{2} e^x \frac{1}{2}$$